
CSC 108H1F Test 2 — Solutions Fall 2008

Question 1. [5 marks]

Complete the following function according to its docstring description.

def longer(L, x):
’’’Given a list of strs L, return a new list that contains each
element of L whose length is greater than int x. For example,
longer([’abcd’, ’abc’, ’ab’], 2) returns [’abcd’, ’abc’].’’’

result = []
for item in L:

if len(item) > x:
result.append(item)

return result
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Question 2. [7 marks]

The str module in Python has a function called split. Without using Python’s split, implement the
following function according to its docstring description.

def my_split(s):
’’’Given a str s, return a list of all the strings in s that are
separated by the character ’?’. For example, my_split(’This?is??it’)
returns [’This’, ’is’, ’’, ’it’].’’’

result = []
temp = ’’
for c in s:

if c != ’?’:
temp += c

else:
result.append(temp)
temp = ’’

result.append(temp)
return result
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